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Ui yaAAuNInen LY AEoNIAN ANABLIIA A El yardunindUangt
1 5,500 500 500 5,000
2 5.000 500 1,000 4,500
3 4,500 500 1,500 4,000
q 4,000 500 2,000 3,500
5 3,500 500 2,500 3,000
6 3,000 500 3,000 2500
7 2 500 500 3,500 2000
8 2.000 500 4.000 1,500
9 1,500 500 4,500 1,000

10 1,000 500 5,000 500




2. 5aunanisanad (Declining-Balance)
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2. 5aunanisanad (Declining-Balance)
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19 YAATAUNSWe Ul AL&aNs AN AndansAdeay  yamdunsweglarad

1 5,500 1,173 1,173 4,327
2 4,327 923 2,095 3,405
3 3,405 726 2,821 2,679
4 2,679 571 3,392 2,108
5 2,108 449 3,842 1,658
6 1,658 354 4,195 1,305
7 1,305 278 4,473 1,027
8 1,027 219 4,692 808

9 808 172 4,865 635

10 635 135 5,000 500




3, F3NATINIUINY (Sum of the Years Digits)
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3, F3NATINIUINY (Sum of the Years Digits)

PRIEAN
AGous1e U 1 = (10/55)(5,500 — 500) = 909 vw
AdeNsIANTT 2 = (9/55)(5,500 — 500) = 818 uvw
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1 5,500 909 909 4,591
2 4,591 818 1,727 3,773
3 3,773 27 2,454 3,046
q 3,006 636 3,090 2410
5 2,410 545 3,635 1,865
6 1,865 a54 4,090 1,410
I 1,410 364 4,454 1,046
8 1,0d6 273 4,727 773
9 773 182 4,909 591
10 591 91 5,000




L ANdaNTIAN Adeusan ALdausan
v 18Straght Line 38Declinning-Balance 38Sum of the Years Digits
1 500 1,100 909

2 500 880 818

3 500 704 127

il 500 563 636

5 500 450 545

6 500 360 454

7 500 288 364

8 500 230 2173

9 500 183 182

. 10 500 148 91
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